
ODŠTEVAMO DO 100 S PREHODOM 

Izračunaj na dolgo! 

 

92 – 6 = ______________________ 

87 – 9 = ______________________ 

44 – 5 = ______________________ 

31 – 3 = ______________________ 

52 – 4 = ______________________ 

63 – 7 = ______________________ 

24 – 8 = ______________________ 
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Izračunaj na dolgo kot 
kaže prvi primer. 
 
 
 
 
 

 

 
               5    1 

45 -  6 =   50 -     1 = 51 
 

74 - 8 = ___ -   4    = ___ 
 

66 -  7 = ___ - ___ = ___ 
 

37 -  9 = ___ - ___ = ___ 
 

83 -  8 = ___ - ___ = ___ 
 

25 -  6 = ________________ 
 

34 -  5 = ________________ 
 

57 -  9 = ________________ 
 

12 -  3 = ________________ 
 

34 -  8 = ________________ 
 

44 -  9 = ________________ 
 
 
 
 
 

 


